2-3 Multiplying and Dividing Numbers in Scientific Notation Date

Multiply and Divide Scientific Notation

Objective: I can find the product and quotient of numbers written in scientific notation.

Warm Up: Answer thle following questions (without a calculator) 2
(@) 27X 34 4 a1 : (b) 8.04 + 6.7 (01, 8-0""
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i To find thel product of numbers that are in scientific notation. |
E 1. Multiply the first _‘Ea__Cj:D_L (the numbers before the multiplication sign) E
i 2. Keep the E YOSE. _ often *pr oduct Ru\e: E
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Add Exponents.

ZIxercise 1- Evaluate the following (7 x 10°) (2 x 10%)
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Exercise 2- Evaluate the following (8.4 x 10%) (2.5 X 10%)
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To find th@‘e}g}af numbers that are in scientific notation:
1. D Ivi d € the first factors (the numbers before the multiplication sign)
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' 3.8ublTaCt  the exponents
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[Exercise 3- Evaluate the following ?3—2110?
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1.14 x 108
4.8 x 103

0.2375  10°

Exercise 4- Evaluate the following

PROBLEM SET:
1. Evaluate the following =

a. (2.63x10% (1.2x1073) g0

b. 2.4% 108 l

c. (9x107%) (4.34 x 10°3) d T 124x10"
T 4x107?
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2. Neurons are cells in the nervous system that process and transit information. An average neurr
is about m neter in diameter. A standard table tennis ball is|0.04| meter in diameter. Abou
how many times as great is the diameter of a ball than a neuron? i« To X
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3. Central Park in New York City is rectangular in shape and measureS approxime .37 X 107 feet

by( 2.64 x 109feet. If gne acre is equal to
Park cover? Round to the nearest hundredth. %—IIN
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4. In 2005/8.1 x 101° text messages were sent in the United States. In 2010, the number of a.nnual
text messages had risen td 1,810,000,000,000AAbout, how many times as great was the number of
text messages in 2010 than 20057 2 :
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